Math375 Quiz 10 October 29, 2015

Name:
Directions: Show all work. No credit for answers without work.

1. Let G be the following graph.

(a) [1 point] What is the degree of us?

(b) [2 points] Compute 3,y () d(v).

(c) [1 point] Show that the 6-cycle Cp is a subgraph of G.

(d) [2 points] Find two vertex-disjoint 3-cycles in G.
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2. [2 parts, 2 points each] Let ¥ = {a,b}. Let A be the language {w | w has an even number of a’s}
and let B be the language {w | w has an odd number of b’s}.

(a) Give an NFA for AB. Make your NFA as simple as possible.

(b) Convert your NFA to a DFA and then simplify.



